29-Nov-17
28:11:48

129 ps o / ( \ / \ / \\ / 4 This screenshot shows the result of a
5.8V / \ linear amplifier driving an actor with
JTINT TS N ] e it
i NAARVAN AU N -
2.60 v 1 \ :setpoint

\ / \ / 1 \ ' \ / 2 . 2:Voltage at actor 1:100 , so app 550Vpp
R 8 B #:::\ AR :::‘./:H'r A freqency app23kHz

A/ NAV 3 /
53_51\, ) [ \/ ™ \ [ The blue line of “Magnitude frequency
! I Response shows : 50nF 550Vpp =appr

) P , _1l,  22kHz

-0 1 D By

5.6V ' | Result : this model can drive the

! L i I L 3 demanded Frequency .
200 BUL * : - = It can get scaled up to higher values by
1 5 v oc factor2 or3!
2 2 v 0C
kK 20 mv DC — 1 HFREJ 8.5 V
4 5 v oo o
—_— S0 e O0p =200

= )
Y

SpeuLely (e



